
 
 

General Instructions: 
 

1. This question paper contains three parts A, B and C. Each part is compulsory. 

2. Part A has choices. 
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Qn. 
No 

PART A 
Circle the correct answer from the following options. 

Marks 
Allocated 

 

1 
 

8 × 7 = 

 

A. 54 

B. 56 

C. 49 

D. 64 

 

1 

 

2 
 

40 × 8 = 

 

A. 320 

B. 32 

C. 360 

D. 240 

 

1 

 

3 
 H     T    O  

   

 1     3     5 

 

×            2 

 

 

A. 260 

B. 250 

C. 270 

D. 280 

 

1 
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4 
12 mangoes , 3 in each group. How many mangoes? 

A. 3 

B. 4 

C. 36 

D. 9 

 

1 

 

5 
Write down the dividend of 48 ÷ 8 = 6 

A. 48 

B. 8 

C. 6 

D. 0 

 

1 

 

6 
     Which of the following is the division fact of 8 × 2 = 16 

A. 2 × 8 = 16 

B. 16 ÷ 2 = 8 

C. 8 ÷ 2 = 16 

D. 16 × 2 = 8 

 

1 

7 Find out the reminder 

 

 

           9 

 

  4     3   8 

       

- 3   6 

 

     2 

 

A. 38 

B. 4 

C. 2 

D. 9 

1 

8 What is the quotient of 43 ÷ 3 ? 

A. 13 

B. 4 

C. 12 

D. 13 

 

1 



9 What is the reminder of 157 ÷ 4 ?  

A. 0 

B. 1 

C. 2 

D. 3 

 

1 

10 Write the fraction of the shaded part 
 
 
 
 
 
 
 

A. 
4

6
 

B. 
2

6
 

C. 
4

8
 

D. 
2

8
 

 

1 

11 
What is the numerator of 

13

16
 ? 

A. 16 

B. 13 

C. 2 

D. 0 

 

12 Muktha has 6 diyas. She lights half of them in one room. 

How many diyas does she light? 

A. 2 

B. 3 

C. 6 

D. 9 

 

 PART B 
Fill in the blanks. 

 

 

13 

 
7 ×               = 49 

 

 

1 



 

14 
 

The number by which we divide is called         . 

 

1 

 

15 
 

   64 ÷ 4 = 

 

1 

  

PART C 
Answer the following questions. 

 

16   H    T    O 

 

        2    2 

 

 ×     1    3 

 

 

 
 

2 

 
 

17 

Anu went to a stationary shop and bought 27 pencils. 

Each pencil was for ₹ 4. How much did she spend on 

the pencils in all? 

 

 

2 



18 24 children are travelling in cars. There are 3 children in each 
car. How many cars are being used by them ?  

 
2 

19 

Calculate  

  

3     4    6   0 

 

 

 

 

2 

20 John has 12 crayons. Half of the crayons are red. How many 

are of some other colour? 

 
 

2 

 THE END  
 


